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1. A tapered bar AB of solid circular cross section and length L is supported at end B and subjected
to atensile load P at the free end A. The diameters of the bar at ends A and B are da and dg,
respectively. Determine the elongation of the bar due to the load P, assuming that the angle of
taper issmall. (25%)
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2. A prismatic bar having cross-sectional area A = 1200 mm? is compressed by an

axial load P = 90 kN. Determine the stresses acting on an inclined section pq cut through the bar
at an angle 6=30°. (25%) y

P S -R6=30° P=90kN

3. A beam ABC with an overhang at the right-hand end is shown in figure. The beam is subjected to
auniform load of intensity g = 1.0 kN/m on the overhand BC and a clockwise couple M, = 12.0
KN-m acting midway between the supports aa A and B. Draw the shear-force and
bending-moment diagrams for the beam. (25%)
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4. A cantilever beam AB supports a uniform load of intensity q acting over part of the span and a
concentrated load P acting at the free end. Determine the deflection g and angle of rotation dg at
end B of the beam. (25%) q P
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